MATH 111 EXAM 1, Fall 2015

[ Show all work! | Name: . Score
1. || Given the points P(—2,3) and @(4,-1), find: ’ 1
a) The distance d(P, Q). b) The slope of the segment PQ. 2
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2. || a) Solve for z: 4(z —~1) =2z + 1. b) Solve for z: (3/z) + (4/2) = (1/x). 9
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3. || Solve the Equations:
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4. || Find the equations of the lines passing through:
a) The points (1, —3) and (2, —4). b) The point (1,2) and L to the line 4z + 2y = 9.
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| Part I1. | Name: .,
6. Solve: 15 +2z —~z=6
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7. How many ce. of pure HCI should be added to 20 cc. of a 30% HCI solution to get a 50% solution?
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8. Solve the following inequalities:
a) 2 < 2z -4 < 10. b) |3 - 2z| > 5.
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9. ‘Write in the form a + ib
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10. || Solve the following system of equations:
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